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1) (x+2)%+ (y-1)°= 36

Identify the center and radius of each circle. Then sketch the graph.

2) (x-4)°+ (y+2)°=25

Center YA Radius Center YA Radius
10 10
9 9
8 8
7 7
b b
) )
4 4
3 3
2 2
1 1
~ X - - - - 3 .2 . I - - - - 3 .2 .

10 -9 3 _112345 7 8 0 -0 3 1_1123456789117
-2 -2
=3 =3
4 4
5 5
-6 -6
=7 =7
-8 -8
-9 -9
-10 =10
\ / \ /

3) (x+2)%+ (y+2)° = 49

4) (x-5)%+ (y+2)°=4

Center YA Radius Center YA Radius
10 10
9 9
o o
7 7
b b
L) L)
q q
3 3
2 2
1 1
< 9 -8 -7 6 -5 -4 -3 -2 - 0-9 -8 -7 -6 -5 -4 -3 -2 -
10 -0 5 3 1_112345 7 8 0 1_11234567891)7
2 -2
-3 -3
-4 -4
5 5
-6 6
-7 =7
-8 -8
-9 9
-10 -10
\ \
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